
PROBLEM 13C Add and Subtract 

WORD PROBLEMS    NAME ______________________________ 

Place your answer after the equal sign 
 

 

 

 

 

 

         

 

 

 

4)  Snow white was cooking dinner for the 7 dwarfs.  3 of the 

dwarfs got sick and left the room to throw up. How many 

dwarfs stayed behind for dessert? 7 – 3 =  

3)  The tree had 16 coconuts 7 coconuts fell off the 

tree after the tree was shook by a monkey how 

many coconuts stayed on the tree?  16 – 7 = 

  

 

1)  A family was having a picnic for their family.  They had 

12 sandwiches, 12 cupcakes and 12 boxes of juice.   The 

Black bear ate and ran off with 14 items how much was 

left for the family?  36 - 14 =  

2) There are 10 cheerleaders. Each cheerleader had 2 pom 

poms each, how many pom poms are there?  

2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =  

 

5) Casper the friendly ghost went out on Halloween to get 

as much candy as he could?  He picked up 4 bags of candy 

from going house to house.  In each bag he had the 

following: Add them up and how much candy did he have 

at the end of the night?  10 + 21 + 15 + 8 =  

 


